RED 12 Tt & MR

f(x) = —2cosx — cos?z. Only consider x € [—, 7]:

f'(x)=2sinx — 2(cos z)(—sin ) (+2)
= 2sinz(1 + cosx) (+)

Grading Key

2830

= 2sinx + sin 2x
f"(x)=2cosz + cos 2z - 2 (+1)

= 2(cosz +2cos®x — 1) (1)

cosr=—1=x==xm1H1)
infl.pts:

crit.pts: let f(z) =0 < sinz(l +cosz) =0

sine =0=2=0,£7(+1)

, o ZAEE -7, 0,7 (+1)

..... even
=2(2cosx — 1)(cosz + 1) (+2

local extrema:

let (2cosw —1)(cosx+ 1) =0= 2 =+Z,+7 (+2
fTET) =204+ < 0@y f(7)
™)

fI(E7) =20tGtn > 006
cMEREE -2, %

=2(2.—1t+1)0t < 0 (+1)
=2(2-—1+1)0t < 0 (+1)

F1(07) > 0 | Graph:
£1(07) > 0 1, f(0) = =31 local min

"
LJ;”E;L; i 8 1, f(£7) = 11 local max

/(?1)

(i —#—a, Mt —B—2
95

(Tidy up your work above. Anything written below does not count.)
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